+1 0+ -II +II —II+I +[ I - 1T +I -1 +[ -1

13 HCHO + Cu*" + OH — HCOO + Cu,0 + H,0
ox: C: 0>+l = +2steg x1 > +2 steg 1 C pé vardera sidan om —>
red: Cu: +II =+ = —Isteg x2 > —2steg 2 Cupa vardera sidanom —

HCHO + 2 Cu** + OH — HCOO™ + Cu,0 + H,0

laddn. 0 2%+ 1- 1- 0 0
=4+ 1- 1-
summa 3+ 1-
lagg till 4 OH™ +4— 1-
—1_ 1—

HCHO + 2 Cu*' + 50H — HCOO + Cu,0O + H,0

@) 1 0 5 2 1 1

summa 60 40
60 +2 0 laggtill 2 H,O
60 60

HCHO + 2 Cu*" + 50H — HCOO + Cu,0 + 3 H,0

summa 7H 7H stimmer!

svar. HCHO + 2Cu*' + 50H — HCOO + Cu,0O + 3 H,0



